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L (a) Determine if the gra i i
: ph given below is a graph of a one-t funeti
the reflection property to sketch the graph ﬂl: i O B
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3. (#) Change to exponential form the following expressions:
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4. Write the following expression as one logarithm:
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5. Solve the equation;
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6. Solve the cquation:
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7. Find the exact values of the remainin

that;
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9. Let P{t) denote the point on the unit circle that corresponds to the angle &
i : oF G :
If P{t) has coordinates (— 5 —5) find the coordinates of P(¢ + 3w}, P{t — =) and P{—¢),
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10. Use reference angles to find the exact values of
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